4. Your firm has an average collection period of 48 days. Current practice is to factor all receivables immediately at a 2 percent discount. What is the effective cost of borrowing in this case? Assume that default is extremely unlikely.
5. Firm Z has net working capital of $900, current liabilities of $4,320, and inventory of $1,900. What is the current ratio? What is the quick ratio?
6. Calculate the operating and cash cycles
	Item
	Beginning
	
	Ending

	Inventory

	$10,000

	
	$12,000


	Accounts receivable

	4,000

	
	5,000


	Accounts payable

	8,000
	
	9,000


	Net sales

	
	$100,000

	

	Cost of goods sold

	
	$60,000

	


